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SHEHRX (E+TEREMIERRFR)

(B) Fm28F4H1H (£) F29%3H31H

HEEIEEA BINVBEISEES (Bf7 : F9)
BENE FE(A) RE(B) =2(A)-(B)
NEERRBEINA 0 0
# NEHEB A 0 0
REBIBREINA 0 0
REBZIA 458,600,000 465,421,726 -6,821,726
RISTIEBLINA 0 0
REEEAY X BRIV 0 0
I ESTE=SrE T PN 0 0
W[==E=T 0N 0 0
BAEFEHEIEINA 50,000 30,000 20,000
| |[EsmEsmamA 0 0
" |=EREmRLSIRA 811,000 893,726 -82,726
ZOMBOURA 2,400,000 2,531,060 -131,060
(o P el e e = I 0 0
& FEEMUNAGT (1) 461,861,000 468,876,512 -7,015,512
2| [ArrEEE 353,846,000 355,153,528 -1,307,528
e 42,854,000 41,219,762 1,634,238
X EHEEXH 19,797,000 18,893,587 903,413
SR BRI, 0 0
HiEE s 0 0
FI PR EHBEREE 0 0
IFIEZH 60,000 473,810 -413,810
ZOMOE, 0 0
R EEMES LA E 0 0
EETHZHET (2) 416,557,000 415,740,687 816,313
BEEHERUNZTERE (3) = (1) - (2) 45,304,000 53,135,825 -7,831,825
SERSHESINA 0 0
TERE RS SINA 0 0
I s B A ABIIA 0 0
A B E s AU 0 0
ZOMOMERERZICLBIIA 0 0
FERERZIUAGT (4) 0 0 0
| [BEEEAR TR MRS 4,790,000 4,790,000 0
EEEEREH 5,200,000 4,904,330 295,670
Nl mEamEmD- EREs 0 0
B TrAF R U - EHOEFHZ 0 0
X | zotomEEEEECLsZE 0 0
S [EsEESE T HEr (5) 9,990,000 9,694,330 295,670
RS EINZ AR (6) = (4) — (5) -9,990,000 -9,694,330 -295,670
ENEEEEEAE cR MRS HEIIA 0 0
7| |EmEEESBARINA 0 0
DI ST SEIRITA 0 0
A 18 S TR 5 S50 0 0
o |HERzEmERERRA 0 0
o] |EOMDEBCLBIA 0 0
| [COMOEBIRAGT (7) 0 0 0
| [FREEASEA ST REmER 0 0
| |EmafazH 0 0
Sl Ea MR 0 0
5Hjﬁﬁﬁ§féﬁﬂj 43,000,000 -43,000,000
Y |zofthosEshcszz 0 0
o [zotoEszdat (8) 0 43,000,000 -43,000,000
ZoMOEDERINEEE (9) = (7) - (8) 0 -43,000,000 43,000,000
FRE=E (10)

LHESINE RS (11) = (3) + (6) + (9) — (10) 35,314,000 441,495 34,872,505
AR INERTES (12) 61,592,538 61,941,899 -349,361
LHIRRINESRS (11) + (12) 96,906,538 62,383,394 34,523,144




